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1 Each line of a 3 phase system is suspended by a string of 3 similar insulators. If [10] CO6 L3
the voltage across the line unit is 17.5 kV, calculate the line to neutral voltage.
Assume that the shunt capacitance between each insulator and earth is 1/8 th of
the capacitance of the insulator itself. Also find the string efficiency.
2a A 3 phase ,50 Hz,66kV over head line conductors are placed in a horizontal [5] CO5 L3
plane as shown in fig .The conductor diameter is 1.25cm.If the line length is 100
km, calculate 1) capacitance per phase 2)charging current per phase, assuming
complete transposition of the line.
2b  Mention different methods of increasing string efficiency [5] CO6 L2
3 Derive an expression for the inductance of a 3 phase over head line for [10] CO5 L2
symmetrical spacing and unsymmetrical spacing
4 Discuss the nominal T method of a medium transmission line with appropriate [10] CO5 L2
circuit diagram and phasor diagram and hence obtain the expression for
regulation and ABCD constants for the same.
S A 3 phase 50 Hz,16 km long overhead line supplies 1000kW at 11 kV,0.8 pf [10] CO5| L3
lagging. The lie resistance is 0.03€2 per phase per km and line reactance 0.219 Q
per phase per km. Calculate the sending end voltage ,voltage regulation and
efficiency of transmission
6 A 132 kV ,50 Hz ,3 phase transmission line delivers a load of 50 MW at 0.8 pf [10] CO5 | L3

lagging at the receiving end. The generalized constants of the transmission line
are A=D=0.9

5<1.4 0, B=96<78 ° C=0.0015<90 ° .Find the regulation of the line and
charging current. Use nominal T method.
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